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The role of Iraq market of the financial documents for 

decreasing the  average of unemployment��
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Abstract ��

Iraq is the country of wealth weather its natural , agricultural or     
industrial . In Iraq we find the source of prosperity which is enough for its 
people and increase for more years .                                                         

After the accupation 2003 ,Iraq is full of  unemployment, credit and 
needs.  why?       

After beigen the second country of the world in spare oil .Iraq now is          
importing the oil from the countries which are really importing it    why ?  

We can call those had circumstances as ( severe ) resulting 
unemployment. 

This research deals with some resolution as an interim treatment 
because of the disability of security and economy nowadays .                     

 This research illustrates the development of policy , economy , society 
and security , if we can get rid of unemployment by developing the Iraqi 
monetary stocks and operates the unemployees by establishing projects and 
encouraging the foreign investment and also activate the resolution number 
(13) in 2006 . All these factors will have the benefit for the Iraqi society.  
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